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TIME: 1HR 30MIN

INSTRUCTIONS: Answer Question ONE and Any Other TWO Questions.

QUESTION ONE 30MKS






	a) Simplify
	 [image: image2.jpg]


:


(3mks)
b) Evaluate  i) 1251/3
ii)2431/5
iii)2561/4



(6mks)
	  bn = x.   
	
	 
	     23 = 8.   
	


c)  Write each of the following in logarithmic form.



(4mks)
	log10n =  
	1000
	 
	 5 = log2n.  
	


d) Find  n?
4mks
e) Evaluate log3[image: image3.png]










(3mks)
f) Solve x2 + 4x + 1 = 0 






( 4mks)
g) Differentiate AP from GP






 ( 2mks)
h) Find f’ if f(x) =(2x-3)(3x+4) 






  (4mks)

QUESTION TWO15mks
a) Find the 10th term of the sequence
                          3, 5, 7, 9, ...







(3mks)
b) Define the term rationalization in surds 






(3mks)
c) Define a function








(2mks)
d) Outline rules  of  indices 







(3mks)
e) simplify the expressions given, expressing the answers in index form and with positive indices:











(4mks)
i. 23×2×22 
ii. 72×74×7×73


QUESTION THREE 15mks
a) Simplify  









(3mks)
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b) Find the number of terms in the sequence





(6mks)
                7, 10, 13,... 55.
c) A theater has 60 seats in the first row, 68 seats in the second row, 76 seats in the third row, and so on in the same increasing pattern.  If the theater has 20 rows of seats, how many seats are in the theater?






(6mks)
QUESTION FOUR 15mks
a) Kenya women finance trust grants loans to women on compound interest. Betty borrowed Ksh200, 000; he paid back Ksh350, 000. After 5 years. Find the interest rate per annum. 











(5mks)

b) Define the term radian  measure and Convert 4π/9 radians to degrees

3mks
c) To buy a computer, Tom borrowed $3000 at 9% simple interest calculated yearly. If he will be making monthly payments for four years, calculate:



i. The amount of interest paid over the 4 years, 3mks
ii. The total amount to be paid back,2mks
iii. The monthly payment amount. 2mks
